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All Questions are Compulsory.
Figures to the right indicate total marks of the Questions.

State the meaning of division of labour. Describe the Advantages and
disadvantages of division of labour.

L state the chalacteristics rr"rS,[r. 
14

2 State the characteristics of Land.

(1)

(2)

1

2 L State the meaning and functions of Market.
2 Explain the concepts of Total, Average and Marginal Revenue.

OR
State the concepts of Average and Marginal costs, Explain the
relationship between Average and Marginal costs with help of
diagram.

3 Explain the law of Variable proportion with help of diagram.
oR 14

Explain the equilibrium of a firm producer through Isoquants and
Isocosts curves with help of diagram.

4 Explain the Prof. David Ricardo's theory of rent with its limitation.
OR

Explain the Prof. Robinson's Modern theory of rent with help of
diagram.

5 Choose the correct option from the following.

1 Who is efficiently doing the coordination of factors of production?
(a) Manager (b) Entrepreneur (c) Owner (d) Director

2 Which factor is live and it has less mobility from the following factors
of production?
(a) Labour (b) None of this (c) Land (d) Capitat

3 Which factor is functioning to take Risk and Uncertainty from the
following factors of production?
(a) Capital (b) Entrepreneur (c) Land (d) Labour



4 Total Fixed cost * Total Variable cost:
(a) Average cost (b) Marginal cost (c) Total cost (d) Average fixed cost

5 Price and------- revenue are always equal.
(a) Marginal (b) Average (c) Fixed (d) Variable

6 Which cost curve is parallel to horizontal axis?
(a) Average Fixed cost curve (b) Total Fixed cost curve
(c) Marginal cost curve (d) None of this

7 How many stages of Returns to Scale?
(a) Four (b) Two (c) Three (d) Five

8 What is the shape of Isoquant curves?
(a) Concave (b) Convex
(c) Parallel to Vertical axis (d) Parallel to Horizontal axis

9 At the point of equilibrium of the firm Isoquants and lsocost curve
to each other.
(a) Tangent (b) Intersect (c) cuts (d) None of this

10 Price of ----------- can be determining through the Marginal Productivity
Theory of Distribution.
(a) Goods (b) Services (c) Factors of Production (d) None of this

11 All the costs are ---------- during the short period of time.
(a) Variable (b) Fixed (c) Zero (d) Less

12 Marginal costs is the production cost of ---------- unit of production.
(a) Last (b) Additional (c) Intermediate (d) First

13 The relationship between the Factors of production and Production is
Called

(a)Demand Function
(c) Production Function

(b) Supply Function
(d) Consumption Function

14 By multiplying selling price with number of goods, which revenue can
be acquired?

(a) Marginal Revenue (b) Average Revenue
(c) Total Revenue (d) Equal Revenue


